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The following table shows the details of

(i) number of outlets,

(ii) average sales (in ¥ Lakh) per outlet, and

(ii1) total profit (in T lakh) of all the outlets of six HP-showrooms A-F selling Laptops in two years 2020 and
2021,

Baged on the data in the table, answer the question.

H.P. Showroom wise Sales and Profit Figures in two Years.

N Average Sales Total Profit
HP- Number of .
Showrooms Outlets (i E Tk pa Ol (inX Lbalilﬂecg all the
2020 [ 2021 2020 2021 2020 2021

A 2 3 100 110 80 120

B 4 6 340 360 2350 100

c 1 3 120 140 80 100

D 5 [3 180 240 240 360

E 3 4 360 350 300 320

F 5 3 80 60 30 30

FrafafEa arferet § g auf 2020 3R 2021 T A9 894 910 B: (A-F) T34 w=al & T fawa $al &1
faa=or

(i) fawa Bal (3M3cdey) &1 =1

(i) ufd faspa &g it fawt (@rg =g o)

(iii) T2t faspa $51 1 pa oY (TG FUC H), TERid Par s |

dTfereT T U SHisi o YR U U4 DI FaR alioid:

<1 aul 8§ ua-dt. TRE & SAAR et sik ey i

s, | RETPRA | o b [T R
B HEm ot @@ TUT &) FTTH)
2020 2021 2020 2021 2020 2021
A 2 3 100 110 80 120
B 4 6 340 360 250 400
C 1 3 120 140 80 100
D 3 6 180 240 240 360
E 3 4 360 350 300 320
F 5 3 80 60 30 30

If the profitability per outlet is the ratio of average profit per outlet to the average sales per outlet, then the
profitability per outlet was the highest in 2020 for the HP-Showroom.
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1[Option ID=35501] Question Description : general_paper_genarel paper_set 21_english_q1
2[Option ID=35502]
3[Option ID=35503]
4[Option ID=35504]

SI. No.2
QBID:21201002 _
The following table shows the details of

(1) number of outlets,

(ii) average sales (in ¥ Lakh) per outlet, and

(iii) total profit (in ¥ lakh) of all the outlets of six HP-showrooms A-F selling Laptops in two years 2020 and
2021.

Based on the data in the table, answer the question.

H.P. Showroom wise Sales and Profit Figures in two Years.

. Average Sales Total Profit
HP- Number of .
Showrooms Ouless (in ¥ Lakh) per Outlet (¥ Lﬁ%;"j all the

2020 [ 2021 | 2020 2021 2020 2021

A 2 3 100 110 80 120
B 4 6 340 360 250 400
c 1 3 120 140 20 100
D 5 6 180 240 240 360
E 3 4 360 350 300 320

F 5 5 80 60 30 30

frafafad arferet & a1 auf 2020 31X 2021 F TUeTd 894 a1 ©: (A-F) T WR=A & T+ f[aog dal &
fqa=or

(i) faopg bl (3SedeH) of G-

(i) wfd faspa &% it fawt (@@ =gu o)

(iii) T2t faspa $51 &1 pa aTH (TG FUC H), TERid [Par g |

dTfereT T U SHisi o YR U U4 DI 3R aliet:

<1 vl ga-ut, IREH & SER 9! SR ey i

oy, | RETIRR | o g e Qﬁﬁﬁgm
2w HE fw @@ Tue @) FTa )
2020 2021 2020 2021 2020 2021
A 2 3 100 110 80 120
B 4 6 340 360 250 400
& 1 3 120 140 80 100
D 5 6 180 240 240 360
E 3 4 360 350 300 320
F 3 3 80 60 30 30
HP-Showroom experienced the highest percentage increase in average profit per outlet in 2021 over
that in 2020.
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1[Option ID=35505] Question Description : general_paper_genarel paper_set 21_english_q2
2[Option ID=35506]




3[Option ID=35507]
4[Option ID=35508]

Sl. No.3
QBID:21201003
The following table shows the details of

(1) number of outlets,

(ii) average sales (in ¥ Lakh) per outlet, and

(ii1) total profit (in T lakh) of all the outlets of six HP-showrooms A-F selling Laptops in two years 2020 and
2021,

Based on the data in the table, answer the question.

H.P. Showroom wise Sales and Profit Figures in two Years.

N Average Sales Total Profit
HP- Number of .
Showrooms Outlets (in ¥ Lakh) per Outlet (in% Lbalilgec‘ssf all the
2020 [ 2021 | 2020 2021 2020 2021

A 2 3 100 110 80 120

B 4 6 340 360 250 100

C 1 3 120 140 80 100

D 5 6 180 240 240 360

E 3 4 360 350 300 320

F 5 5 80 60 30

30
frafafad arfeet § g1 auf 2020 3R 2021 T AU §94 9101 B: (A-F) W41, I=al & Tt fawa $al &1
faa=ur
(i) faepg gl (3T3edcH) o1 Hw&l
(i) wfal fawpa & it fagt (@ =gu o)
(iii) T2t faspa gl &1 Pat AT (ARG =UU ), Waiid far g |
qTferen! § HRd SHidsi & YR U U HT IR gifeid:

&l oyl o Ug-Ul. SR & SR &gl SR ary i

i, | REIRA | o A ¥ e m‘*‘f‘ﬁﬁx?@
aﬂw' 2 T T @@ T H) FTu
2020 2021 2020 2021 2020 2021
A 2 3 100 110 80 120
B 4 6 340 360 250 400
C 1 3 120 140 80 100
D 5 6 180 240 240 360
E 3 4 360 350 300 320
F 5 b 80 60 30 30

For all the outlets of a given showroom, if the total profit is equal to the total sales minus the total investment,
then the total investment of HP-showroom F in the year 2020 was ;

. % 380 lakhs
. % 330 lakhs
. X 370 lakhs
. % 300 lakhs
(1) 1
(2) 2
3) 3
4) 4

feu T el & Tt faoa ) od ol oo Ay o 9! & A d Ry &1 9en & 918 I IR &
TRIER §, A a8 2020 H U9, 4. AT F &1 P HaW fdba- =9 o1 2

B R

.3 380TMNG
233079
. 3707
.3 30079
1)1
(2) 2
3) 3
(4) 4
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1[Option ID=35509] Question Description : general_paper_genarel paper_set 21_english_q3
2[Option ID=35510]
3[Option ID=35511]
4[Option ID=35512]




Sl. No.4
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The following table shows the details of

(1) number of outlets,

(ii) average sales (in ¥ Lakh) per outlet, and

(iii) total profit (in ¥ lakh) of all the outlets of six HP-showrooms A-F selling Laptops in two years 2020 and
2021.

Based on the data in the table, answer the question.

H.P. Showroom wise Sales and Profit Figures in two Years.

. Average Sales Total Profit
HP- Number of .
Showrooms Outlets (in T Lakh) per Outlet {in % Lﬁ%;‘f all the

2020 [ 2021 | 2020 2021 2020 2021

A 2 3 100 110 80 120

B 4 6 340 360 250 400

C 1 3 120 140 80 100

D 5 6 180 240 240 360

E 3 4 360 350 300 320

F 5 5 80 60 30 30

Frafafaa arfere § g asf 2020 3R 2021 T AU d94 910 B: (A-F) T34 O=al & T fawa sl &1
fagvor

(i) faopg bl (3SedeH) of G-

(i) wfd faspa &% oiffad fast (@@ =au o)

(iii) T2t faspa $51 &1 pa aTH (TG FUC H), TERid [Par g |

dTfereT T U SHisi o YR U U4 DI 3R aliet:

21 N1 H E-. IR & SR el SR am i

, [T foepa Fal
wa, | FEE i “ﬁﬁ ?am 7 3t 1 Fd AT (A
BiiE: il (T ¥ ) TUT H)
2020 2021 2020 2021 2020 2021

A 2 3 100 110 80 120

B 4 6 340 360 250 400

C 1 3 120 140 80 100

D 5 6 180 240 240 360

E 3 4 360 350 300 320

F 3 3 80 60 30 30

Total sales from all the outlets of a showroom was the highest in the year 2020 for the HP-showroom

W e
N W
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(2) 2
(3) 3
(4) 4

forell 2l =0 & Gt fasha sl @1 oa faeh! ay 2020 H 359 U= Ut <iea & waliee o4 2
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(1) 1
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(3) 3

(4) 4

1[Option ID=35513] Question Description : general_paper_genarel paper_set 21_english_q4
2[Option ID=35514]

3[Option ID=35515]
4[Option ID=35516]
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The following table shows the details of

(1) number of outlets,

(i1) average sales (in ¥ Lakh) per outlet, and

(ii1) total profit (in T lakh) of all the outlets of six HP-showrooms A-F selling Laptops in two years 2020 and
2021.

Based on the data in the table, answer the question.

H.P. Showroom wise Sales and Profit Figures in two Years.

. Average Sales hopel Lsely
1p- Number of
Showrooms it (in ¥ Lakh) per Qutlet (m Lgltllge?gf fike
2020 | 2021 | 2020 2021 | 2020 | 2021
A 2 3 100 110 80 120
B 1 6 340 360 250 100
C 1 3 120 140 80 100
D 5 6 180 240 240 360
E 3 1 360 350 300 320
F 5 5 80 60 30 30
frafeiad arferet & &1 asf 2020 3R 2021 § AUErd 89 a0 ©: (A-F) Ta.0. O & ot fawa gl o
faawor
(i) Taehg Bl (3TICieH) DI =1
(i) wfd faspa &% it et (@ =9u o)

(iii) T fasha gl &1 Hat ATy (ARE EUg H), Ueiid fear g |
dTferenT H U 3 si & YR 9 U4 BT 3R ST

&l aul & UF-Ul. YT & SF9R ol iR a1y i

. T g St
et farudsiat | vl a2 ofma 1 T T (T
2 @ ICEANGIECRT LEE: ) Fqu i
2020 2021 2020 2021 2020 2021

A #4 3 100 110 80 120

B 4 6 340 360 250 400

C 1 3 120 140 80 100

D 5 6 180 240 240 360

E 3 4 360 330 300 320

F 5 5 20 60 30 30

The ratio of percentage increase in sales to the percentage increase in profit for the HP-Showroom D in all the
outlets in 2021 over 2020, was

.8:90
i -
.17:19
6:5

b o~

(1) 1
(2) 2
(3) 3
4) 4

av 2020 & HTU& T9 2021 H UREA D o Ffl fawp Sl H facha wicr=id gi 9 o wic=rd gl &1 srgur
ol |

. 3.9
% i B
WEE 7 i .
S
1) 1
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1[Option ID=35517] Question Description : general_paper_genarel paper_set 21_english_q5
2[Option ID=35518]
3[Option ID=35519]
4[Option ID=35520]
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QBID:21201006




Given below are two statements:

Statement-I: The objective of the memory level of teaching is to develop rational and eritieal thinking among
students.

Statement-1I: The objective of the reflective level of teaching is the ability to develop independent thinking
and decision making among students.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement I are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement II is true.

(1) 1

(2) 2

3) 3

(4) 4

B ICAC IR I+
FUA1 : [0 & Wi TR 1 e [qenifal & qifs iR gamE-Es ~ad & [defad a1g |

%lézﬁw%ﬁﬂﬁbwmmﬁ@ﬁﬁﬁmﬂaﬁmaﬁ?%ﬁﬂhﬁwmw
I |

JURIG] HYU & SATelD °, i fGU T [dbedl ¥ 9l 3tk &1 99 DI

PYFI AR I SH T g

HYA LRI A ST G

. FUT 1 T B, AT PUT 11 3T B
DY A &, At FYT 11 TA B
1) 1

(2) 2

3) 3

(4) 4

R

1[Option ID=35521] Question Description : general_paper_genarel paper_set 21_english_q6
2[Option ID=35522]
3[Option ID=35523]
4[Option ID=35524]

Sl. No.7
QBID:21201007

Given below are two statements:

Statement-I: Course material provided through digital platform like SWAYAM, helps learners go through it at
any time and at any place.

Statement-II: Discussion boards work as ansynchronous medium as anyone can post any question or reply at
any time.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false.
4. Statement I 1s false but Statement IT 1s true.

1) 1

(2) 2

3) 3

4) 4




RGP Ry

FY 1 : TG oY 19 o NI § Wad Uleusd Smd] sifenmdbdisll @i e off 9mg W SR fodl oft
T R Y / I9F H e F3dl © |

YA : I91 9159 AJABIeIE HI99H & =0 § S Bd § aiid dig U fermesal el it amg o
Y 41 ITR IR IR GH AT ¢ |

IRIFd HYA F Araid 1, 19 feu U fdsegi 4 O I8t ST &1 904 DI

1. PYTI AR I ST TA El

2. PYA 1 AR I SH! ST G

BYT 1A &, Al HY 11 3T B
. HYA 1 3T 8, A FUT I TA B
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(2) 2
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1[Option ID=35525] Question Description : general_paper_genarel paper_set 21_english_q7
2[Option ID=35526]
3[Option ID=35527]
4[Option ID=35528]

Sl. No.8
QBID:21201008

Which of the following are the characteristics of Teacher centered classroom management?

A. Discipline comes from self

B. Teacher is the sole leader

C. Students are facilitators for the operations of the classroom
D. Students are allowed limited responsibilities.

Choose the most appropriate answer from the options given below:

. A, B and C only
.Cand D only
.B and D only
LA, Cand D only
(1) 1

(2) 2

(3) 3

(4) 4

o7 ferfad & 9 Il e - B pam v & fagvan € 2

A. IR W4 ¥ Jee Bidl g |

B. 18/ TeHE a1 (3R § |

c. faenif weq & vaTeHT & o grEedi | |

D. faent¥al &1 Hiffa StRaiEl o1 srafa S |

Hie fdu e fadedi & 9 Tl IUge SR @1 99 D :

1. PATA, B3N C
2. Fadc AR D
3. %dd B AR D
4.PTAA, CIRD

1) 1

) 2

3) 3

4) 4
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1[Option ID=35529] Question Description : general_paper_genarel paper_set 21_english_q8
2[Option ID=35530]
3[Option ID=35531]
4[Option ID=35532]
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A person solves linear equations in algebra for a number of days and becomes progressively more efficient in
solving linear problems. He not only becomes more accurate in his work but also solves the problems much
faster. This progressive improvement in performance is a form of transfer known as

1. Learning to learn
2. Generalization
3. Transposition
4. Identification
(1 1
) 2
3) 3
4) 4
TS AT 3 41 d ST & Ia® JHIGR0 BT AT Bl € 3R AP JHsi & gare= &
Hi® T T 4 S S a1 | 98 THre & HeE | 7 dad e dle g o §, gfew it
ol & FHEne &1 SHYH SRl § | e 8 98 Bile YR SR (URadH) 31U =4 ¢, o9l
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(1) 1

(2) 2

3) 3

(4) 4
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1[Option ID=35533] Question Description : general_paper_genarel paper_set 21_english_q9
2[Option ID=35534]
3[Option ID=35535]
4[Option ID=35536]

Sl. No.10
QBID:21201010

Which of the following statement best describes lecture method of teaching?

. Small step presentation with feedback provided
. Content delivery in a lucid language

. Production of large number of ideas

. Theme based interaction among participants

R

(1) 1
(2) 2
(3) 3
(4) 4

frafafad § A o9 9 Sy R0 St o dgfd &1 aulH Jafaa g A HLare »

1. Y& Uiaq¥ & 61y Y QM Uil

. gaTYy v o fova-as] uEgfa

 [9=IRT &1 g&d A1 @1 SdeA

eIl & o fawg snutia sFarafspar
1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=35537] Question Description : general_paper_genarel paper_set 21_english_q10
2[Option ID=35538]
3[Option ID=35539]
4[Option ID=35540]

Sl. No.11
QBID:21201011

A research paper evaluated by other experts either for publication or presentation at a conference iz considered
to have undergone:

1. Peer Review
2. Public Review
3. Private Review
4. Research Review
1) 1
(2) 2
3) 3




(4) 4

g1¢ fodl 2Te U & USDTRH U1 SHS (B HT6E H UKIAH0 8 SHD] i [hdT o= [q2s gRI
fPaT o e, A SY T AT I & 2

1. G GHTef
2. TaWE THieT
3. foit Tten
4. ST THTET
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2) 2

3) 3

(4) 4

1[Option ID=35541] Question Description : general_paper_genarel paper_set 21_english_q11
2[Option ID=35542]
3[Option ID=35543]
4[Option ID=35544]

Sl. No.12
QBID:21201012

When knowledge becomes replicable and verifiable, it is then called

. Humanistic

. Impressionistic
. Scientific

. Subjective

B

1) 1
(2) 2
(3) 3
(4) 4

oTE I YRR 3R TTIE S A E I €, < 39 $el 9l © -

1. HEGdraret
2. gYTgaret
CEIIELY
4. fFIg
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=35545] Question Description : general_paper_genarel paper_set 21_english_q12
2[Option ID=35546]
3[Option ID=35547]
4[Option ID=35548]

Sl. No.13
QBID:21201013

Which of the following are the criteria of a successful interviewer?

A. Ethical

B. Open Minded

C. Gentle and Sensitive

D. Balanced

E. Rigid and Harsh in comments.

Choose the correct answer from the options given below:

A.B.C.Donly
.B,C.D,E only
.A,C.D.E only
.A.B.D.E only
1)1
(2) 2
3) 3
(4) 4

R




afiiad ¥ § 9% d Qe Rl & ol A0S § »

A, RS
B. Gdl BT qrell
C. T 3R Hagea

D. Tqferd
E. 301 fewfordi & 841 3R @R
e fou U fadedl § U Tl IR &1 904 B

1.$dd A, B,C.D

.$ddB,C.D,E

. $AdA,C,D,E
4. DA A.B,D,E

1) 1

2) 2

3) 3

(4) 4
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1[Option ID=35549] Question Description : general_paper_genarel paper_set 21_english_q13
2[Option ID=35550]
3[Option ID=35551]
4[Option ID=35552]

Sl. No.14
QBID:21201014

Which of the following are ethical problems in research?

A. Plagiarism

B. Coercion

C. Breach of confidentiality
D. Beneficence

E. Fidelity

Choose the correct answer from the options given below:

.AB. C only
.B. C.D only
.C.D.E only
.A.D.E only
1) 1
(2) 2
(3) 3
4) 4

fafaaa ¥ ¥ S E-1 Wiy o1 =i TrE §
A. Tiigfde IRl (@isaiems)

B. FAWAM
C. TIY=Tadr 1 a1 oA

D. 3YBINT
E. 3HFGERT

=i fou U fddedl § ¥ ¥El IR &1 98 SDIfog:
1.PAA A, B, C

e L b2

1[Option ID=35553] Question Description : general_paper_genarel paper_set 21_english_q14
2[Option ID=35554]
3[Option ID=35555]
4[Option ID=35556]
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Given below are two statements:

Statement-I: For open-ended questions, respondents can produce their own answers without any restriction of
length.

Statement-1I: The memory phenomenon of telescoping is not an issue in survey research.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statement II are. incorrect
3. Statement I is correct but Statement II is incorrect.
4. Statement I is incorrect but Statement II 1s correct.
(1) 1
) 2
3) 3
4) 4

2 1 By Ry Mg 3

HYT : 3107 -TSS W4l & foIg, ITRET Ao & ay G e 30 IR g gpd ¢ |
FYF 11 : Fau Ty T feepiftn o1 w3fa aRge1 2t s T8l el & |
SWRIT DY P i 1, i &Y M0 f[dwedl 7 3 9a8 3ugad SR D1 T4 HIg:

PYA 1 AR IS TET
FHYFISR IS Tad 6l
YT 1 98l 8, Afds HUF 11 7ad ¢
DY 179 B, A $YF 11 TE B

(1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=35557] Question Description : general_paper_genarel paper_set 21_english_q15
2[Option ID=35558]
3[Option ID=35559]
4[Option ID=35560]

Sl. No.16
QBID:21201016

The preface to a book is an example of:

. Convoluted communication

. Ritualistic communication

. Informal communication

. Feed forward communication
(1) 1

(2) 2

3) 3

(4) 4

o<l geaes 1 ST el Jalerul g »

faaras (Rguikifes) gaiyo

_OfF SRR (B1S BRAS) TSN
1) 1
@) 2
3) 3
4) 4
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1[Option ID=35561] Question Description : general_paper_genarel paper_set 21_english_q16
2[Option ID=35562]
3[Option ID=35563]
4[Option ID=35564]

Sl. No.17
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A message beneath a message is often referred to as:

1. Lower text

2. Critical text

3. Appended text
. Sub-text

1) 1

(2) 2

3) 3

4) 4

TS Yo & -1 U au ! {9 w0 # gefilq fparomare »

on

1. FgR U8
2. TS U8 (fsbfchd coe)
3. Jau 918
4. 39918
1
) 2
3) 3
(4) 4

1[Option ID=35565] Question Description : general_paper_genarel paper_set 21_english_q17
2[Option ID=35566]
3[Option ID=35567]
4[Option ID=35568]

Sl. No.18
QBID:21201018

What precautions are necessary in the context of online information?

A. Discussion groups information is not amenable to checking.

B. There is no need to compare the information given by different websites.
C. Check the home page or the 'About us' section of the concerned website.
D. Do not trust the information without date,

E. Do not always trust the institution that owns the website.

Choose the correct answer from the options given below:

LA, B, Conly
.B. C.D only
.C.D.E only
.C. D, A only
(1) 1
(2) 2
3) 3
(4) 4

1 15 g1 & ey § $H ¥ qaiir s1avad @ -

A, 79 Tgi B gE o & ol T B E

B. a1 aedIged g1 €1 715 Yo &1 o1 B3 &1 Ha=gSdl 761 ¢ |
C. Y&f¥d Ie9rge & BH UST A1 '3E3C 3 TR i B |

D. fdlY & S g W oy a & |

E. U0 39 91 R 3y 7 &<, ot o= daase g |

=i fu 7T f[doped § & Tl 3R @1 99 Bifoe:

1.$dd A, B, C
.$ddB,C.D
. $daC, D, E
. HddC, D, A
1 1
2) 2
(3) 3
(4) 4
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1[Option ID=35569] Question Description : general_paper_genarel paper_set 21_english_q18
2[Option ID=35570]
3[Option ID=35571]
4[Option ID=35572]
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Given below are two statements:

Statement-I: In the transmission model of communication, the emphasis is not on the process of
communicating.

Statement-II: On the other hand, the symbolic model does not focus on the process of exchange of
information.

In the light of the above statements, choose the correct answer from the opticns given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I 1s false but Statement IT is true.

(1) 1

) 2

3) 3

4) 4

BIECIEICACURI s
YA 1 : LU F IR e (CTRERE disa) § GEiY & Wikl IR 99 ol [Gar oidi g |

FYA 11 : TP [GuRd Tl Is Has Y1 & 1eH-UaH 31 Wihal IR & $i5d 7ol ST o |
SRIFd HYA P A@D |, 1d ST U 99l § U 9ol 3 &1 994 S

1. U1 3R 11 SHI I B
2. FYAT ARG SFA T
3. TUT 19 €, T HUF 11 S B
4. PYTI 3T B, AT ST 1 T 81
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=35573] Question Description : general_paper_genarel paper_set 21_english_q19
2[Option ID=35574]

3[Option ID=35575]
4[Option ID=35576]

Sl. No.20
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Match List T with List IT

LISTI LISTII
(Communication Codes) (Characteristic)
A [Natural code I |Reflection of mass or collective perception
B. |Technical Code I1. |Appreciation of cultural artifacts
C. |ldeological Code ITI. |Reflects the socio-cultural world
D. |Aesthetic Code IV |Operational modes of media

Choose the correct answer from the options given below:

. A-I, B-II, C-III, D-IV
. A-II, B-III, C-TV, D-I
AL B-IV, C-1. D-II
. A-IV, B-1, C-I1, D-IIT
1) 1
(2) 2
(3) 3
4) 4

de o B =




it 1 1Y Gl 11 B fHelH DIy

A [refife dfear L mmﬁ%@mwm
B. [d@-im! digdr e ;;%v:lﬁlmmmqwmmﬁ

C. [aaiRen Hfea I %ﬁgw | fay @l
D. [iedw® dledl AR e B e

i feU e [ddhedl § U gl IR &I 99 DIl ;

1. A-I, B-1I, C-1I1, D-IV
2. A-IL B-III, C-1V, D-I
3. A-IIL, B-IV. C-I, D-II
4. A-IV, B-1, C-II, D-III
1)1
(2) 2
(3) 3
(4) 4
1[Option ID=35577] Question Description : general_paper_genarel paper_set 21_english_q20
2[Option ID=35578]

3[Option ID=35579]
4[Option ID=35580]

Sl. No.21
QBID:21201021

A man starts working from his home. He walks 20 meters in the west direction, then turns right and walks 30 meters. Thereafter he walks
10 meters in the east direction. Find the aerial distance between the end point and the starting point.

1.10 4/10m
2.100 /10m
3.10/5m
4.5 /10m

(1) 1

(2) 2

(3) 3

(4) 4

TS TS 307 TR & T Sy Bl § | T8 TiH fa=n F 20 Hiex 9ol 8. 39S 918 alfer AR T5@< 30 e Tad ¢ | 595
915, 98 X4 G2 10 Hex Iaar § | 3Ry [6g 9 sifan g & &9 &1 utRgd (seeitg) g3 31d Sifer |

. 10,/70 HIcX
.100m1ﬂ?\‘
.10/ HIeX
.5m1ﬂﬁ?
(1) 1

(2) 2

(3) 3

(4) 4
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=

1[Option ID=35581] Question Description : general_paper_genarel paper_set 21_english_q21
2[Option ID=35582]
3[Option ID=35583]
4[Option ID=35584]

Sl. No.22
QBID:21201022

A 15 the son of B but B is not the father of A. How 1s B related to A?

. Grandmother
. Grandfather

. Mother

. Uncle

(1) 1

(2) 2

3) 3

4) 4

O
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1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35585] Question Description : general_paper_genarel paper_set 21_english_q22
2[Option ID=35586]

3[Option ID=35587]
4[Option ID=35588]

Sl. No.23
QBID:21201023

In a forest there are some Tigers and Peacocks. The total number of heads is 90 and the total number of legs is
240. Find the total no. of Tigers and total number of Peacocks in the forest i.e. (Tigers, Peacocks)

n

(35,
. (45,
. (40,

R
—~
D La

: . 60)
1) 1
(2) 2
(3) 3

(4) 4
UG T E, T8 a9 dR TR T | 570 od R o1 9@ 00 8 SR IR Sl pa @240 | s Hari
Pl YT SR TR B ol T (9T, TER) 7d [bIory |

1. (35, 55)
2. (45, 45)
3. (40, 50)
4. (30, 60)

(1) 1

() 2

(3) 3

(a) 4

1[Option ID=35589] Question Description : general_paper_genarel paper_set 21_english_q23
2[Option ID=35590]
3[Option ID=35591]
4[Option ID=35592]

Sl. No.24
QBID:21201024

What number should replace question mark (?) in the series given below?
125,129, 120, 136, 111, 147, 72

183
. 258
196
.98
1) 1
(2) 2
(3) 3
4) 4

1 &1 115 g §. uyaras ST (2) B IO A1 BH-1 gl 91t ¢

125,129, 120, 136, 111, 147, ?

R R

183
258
196
98

b2 =

e

(1) 1
) 2
3) 3




(4) 4

1[Option ID=35593] Question Description : general_paper_genarel paper_set 21_english_q24
2[Option ID=35594]
3[Option ID=35595]
4[Option ID=35596]

Sl. No.25
QBID:21201025

If in a certain coding language, A=26, G=20, GO=32, and SOME = 56, then the value of COME will be equal
to

1.60
272

.48
.36
11
(2) 2
3) 3
4) 4

g T (T84T g2 T H, A=26, G=20, GO = 32 3R SOME = 56 8. 78 COME 1 A [dddr axTaR il »

da L

foiba
a o

e
5

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=35597] Question Description : general_paper_genarel paper_set 21_english_q25
2[Option ID=35598]

3[Option ID=35599]
4[Option ID=35600]

Sl. No.26
QBID:21201026

Which logical fallacy is exemplified in the following statement - "No one can criticize the Freudian
psychoanalysis unless the one who eriticizes himself has been psychoanalvsed".

1. Ad Hominem

2. Appeal to authority
3. Appeal to Ignorance
. Equivocation

oy

1) 1
(2) 2
(3) 3
(4) 4

Fofafad oy & $19-8 d& SV &1 3460 [Hadl © - &is W wrasae! A-Iavdy &1 99 d&
HTATET el R Fhdl & oid b [ T gD BT of H-1 [GZawor 7 &= forar mar g |

1. TS giffe
 YPR 3198
RIS 36
. aTaed (HETd®)
(1) 1

) 2

3) 3

(4) 4

I PV

1[Option ID=35601] Question Description : general_paper_genarel paper_set 21_english_q26
2[Option ID=35602]
3[Option ID=35603]
4[Option ID=35604]

Sl. No.27
QBID:21201027

Which of the following propositions is logically equvalent to the proposition - "All frogs are amphibians"?

. No amphibians are non-frogs.

. No frogs are non-amphibians.

. Some amphibians are frogs.

. Some amphibians are not frogs.

R




(1) 1
(2) 2
(3) 3
4) 4

fafafad o o= @ ufagfe @i fed SyTR § » vt dbared 9 s $u H aaqe &

1.3 N IR RAH AL eld ¢ |
2. ®I% Wi e IRSUT=R TS e g |
3. P8 SHTRTGH A § |
1. FE IR IeH TS e ¢ |

1) 1

2) 2

(3) 3

4) 4

1[Option ID=35605] Question Description : general_paper_genarel paper_set 21_english_q27
2[Option ID=35606]
3[Option ID=35607]
4[Option ID=35608]

Sl. No.28
QBID:21201028

If the proposition 'some fishes are not amphibians' iz given as false then which of the following propositions
can be immediately inferred to be true ?

A. No amphibians are fishes.
B. All fishes are amphibians.
C. No fishes are amphibians.
D. Some fishes are amphibians.

Choose the most appropriate answer from the options given below:

A and C only
.C and D only
.B and D only
. D only

R

1 1
) 2

3) 3

) 4

afe; e Tefiml IyTeR e § viowft Bt o & U B e wn € a9 o § S @e
ORIl 1 dieb1iae $U 3 T BT SAT 6l ol JeHdl g 2

A BIE 1 SYT=R ool eI & |
B. 9yl 7oferf SyT=R § |
. ®1e 1 Iaell gug=R TE 21
D. T ool SHTERE |

=Tt foU U fomed! T 9§ Ha STE IR &1 907 S
1.$ad AR C

1[Option ID=35609] Question Description : general_paper_genarel paper_set 21_english_q28
2[Option ID=35610]
3[Option ID=35611]
4[Option ID=35612]

Sl. No.29
QBID:21201029




Which of the following propositions are so related that they cannot both be true, although they may both be
false?

A. All frogs are amphibians.

B. Some frogs are amphibians.

C. Some frogs are not amphibians.
D. No frogs are amphibians.

Choose the most appropriate answer from the options given below:

Aand C only
.Cand D only
. B and C only
.Aand D only
1) 1
(2) 2
(3) 3
(4) 4

Wﬁ?ﬂﬁ%ﬁﬁmwwﬁﬁm%%ﬁﬁwﬁﬁw,méﬁmﬁ
Thd g ?

A 9f Hed TR E |

B. $T H6® SHIWR ¢ |
C.T® Hed SHTR o1 6 |
D. FT5 1 AP SUTR TEI ¢ |

9 feu e fasedl & 9 9a9 Iugad IR &I 90 DI

b

1[Option ID=35613] Question Description : general_paper_genarel paper_set 21_english_q29
2[Option ID=35614]
3[Option ID=35615]
4[Option ID=35616]

Sl. No.30
QBID:21201030

Which of the following arguments is an example of the fallacy of a sadharana (narrow middle term) according to Nyaya (classical Indian

school of Logic)?

. Sound is non-cternal because it is produced.
. Sound is eternal because it is audible.

. Sound is eternal because it is produced.

. Sound ig quality because it is visible,

1)1

(2) 2

(3) 3

(4) 4

T (YR QR deb-Ha) & IR FEfiRad § 3 &1 - I gl SR (I8 Ui eus) ddb-aN &1 U a6l 6 2

1. @ TR-2MYd & Wi Tg SaAslal § |
2. T 1Y & Fifh g8 g A B |

3. @ yd & ifh g8 Sausidi g |

4. af= U1 § Fifeh g TR I B |

1) 1
(2) 2
(3) 3
(4) 4

a2

1[Option ID=35617] Question Description : general_paper_genarel paper_set 21_english_q30
2[Option ID=35618]




3[Option ID=35619]
4[Option ID=35620]

Sl. No.31
QBID:21201031

If one MegaByte is equal to 2°° Bytes of computer data storage, then 2048 TeraBytes is equal to bits of
data storage.

551
444

454

Y

;5?
1) 1
(2) 2
(3) 3
4) 4

gfe T WNEIge, PR SIEl HSRU H 220 §13¢H & aXI6R 8l dl, 2048 SRIESCH, Sl HSRU &
fecH & SIS g1 |

b2 =
da v
oy

[ S S S ]
h ' h
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M
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1) 1

(2) 2

3) 3

(4) 4

1[Option ID=35621] Question Description : general_paper_genarel paper_set 21_english_q31
2[Option ID=35622]

3[Option ID=35623]
4[Option ID=35624]

Sl. No.32
QBID:21201032

Which of the following best describes Web 2.0?

. Static websites

. Intelligent websites

. Social media and user-generated web content
4, Hypertext mark-up language

1
2
3

(4) 4

fofafad 8§ 9 ©H 99 2.0 HTI0YE P T guiH Fdl § 2

1. RRR (Ffew) deazey

=T HIfEa SR wRiaar-si-d de sias
1) 1

2 2

3) 3

(4) 4

I PV

1[Option ID=35625] Question Description : general_paper_genarel paper_set 21_english_q32
2[Option ID=35626]
3[Option ID=35627]
4[Option ID=35628]

Sl. No.33
QBID:21201033




Given below are two statements:
Statement-I: Video cards and sound cards are typical examples of computer software.

Statement-1I: Examples of software utilities include anti-virus software, anti-spyware software and screen
savers.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement I is true.

(1) 1

) 2

3) 3

4) 4

GG ICACURI s
FYTI : dITSUl DTS IR IS BIS HIIER JFEITR & (1YY ISERUE |

FY 11 : TOCT AR TUCTR, UOE] - TLa0R et 3R BhH Yad, IedaR Suan aegei &
RERUE IR
IR HYA P AP H, -1 [SU MU [dH el ¥ U gl IR &1 999 DIfoT:

1. B AR IS a1
2. FYF I AR I ST A |
3. YT 1 TA &, A YT 11 T B
4. BYA 1 ITT B, e BT 11 A gl
(1) 1
2 2
(3) 3
(4) 4

1[Option ID=35629] Question Description : general_paper_genarel paper_set 21_english_q33
2[Option ID=35630]
3[Option ID=35631]
4[Option ID=35632]

Sl. No.34
QBID:21201034

Which of the following statements are true ?

A. Hypertext links in the WWW are designed to be unidirectional, which means that the destination of a
link may be moved or deleted without the source being notified, resulting in broken links.

B. The Google search engine algorithm is secret, so the general public does not know how the results of a
search are being ranked when presented to a user.

C. Web search engines collect personal data and use that data to target users with customized advertising.

Choose the correct answer from the options given below:

. Aand B only
. A and C only
. B and C only
A Band C
1) 1

(2) 2

3) 3

(4) 4

R e
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A S 6 56 T EIIRCERE foidh U - 43019 §H 8 - W= 8id & [orwe s s & (&
fSiep b1 7idey, FId 1 iU fby U famr, Wisd fefepl & uRumee Rl $u H, 3ml-die fear o
TPl & T1 59 el AT S Wbl | )

B. 010 T 5o USIReH T SidT &, U WHr dil &1 98 9ar el oidl & o st @iet (o) &
OO &1 S W 3 G0 W al oidl ¢ ol [ HeR 4§ $9 Ufdies fear g |

C. 99 T 5o ol S121 &1 UUT PRl & SR 34 SIel P SaWHAHR [0 & 91y aléa
T & fore wan fear smar g |

=19 féu 7T f[awed § ¥ Tl 3R @1 99 BHifoe:

1. Pad A AR B
2. FPaAAARC
. FHaaB 3R C
4. A B3RC
1) 1
) 2
3) 3
4) 4

LR ¢

1[Option ID=35633] Question Description : general_paper_genarel paper_set 21_english_q34
2[Option ID=35634]
3[Option ID=35635]
4[Option ID=35636]

Sl. No.35
QBID:21201035

Match List I with List IT

LIST1I LISTII
(Computer Term)) (Description)
Standard adopted by the electronic music industry for
A JPEG L ; i y
controlling devices such as svnthesisers and sound cards.
This format allows the storage of multimedia files rather
than just sound.
[File compression format designed to make photo files
|smaller in size for storage and for transmission

B.MIDI II:

C.MP3 format I

[File Compression system for music which does not

Do [TV, Inoticeably affect the quality of the sounds.

Choose the correct answer from the options given below:

. A-TITL B-1, C-TIV, D-II
. A-IIL B-IV, C-1, D-II
AL B-I,C-IV, D-III
. A-IV, B-1, C-III, D-IT
1) 1
(2) 2
(3) 3
4) 4

de o B =




Gl 11 Yot 11 9 il SIfSe

T T el
(PR Te) @vi)
SqEl- Hiid I GRI gigeal w9
A |IPEG 1. [ORMEeR 3R NS oTs TR 9301 8 S0AT SH
CISKaIEED
I8 WU A thad @i+ @I dicth JeeHI1Sg1 Bral Pl
SR BRATE |
PTgc Y&U] HTPY HSRY o AR Y0 g HAPR H
€ [MP3 Y M o5t et & 1o a9 og SRE BRI S |
[E7d B WIga Haluvl o1 98 [ (Usid) ol 96s
D- MP4 FRY [TV |5 arurarer oot g iy @ wifel =8 el 2 |

g oo foaseul & O 98t STk &1 904 BIfve -

I. A-III, B-1. C-IV, D-II
2. AL B-IV, C-1, D-II
3.A-IL B-1, C-IV, D-III
4. A- IV, B-1, C-III, D-II

1 1

(2) 2

3) 3

(4) 4

B. MIDI L.

1[Option ID=35637] Question Description : general_paper_genarel paper_set 21_english_q35
2[Option ID=35638]
3[Option ID=35639]
4[Option ID=35640]

Sl. No.36
QBID:21201036

Non-point sources of water pollution are:

A. from specific location
B. diffuse

C. episodic

D. identifiable

E. difficult to monitor

Choose the correct answer from the options given below:

1.B. C and E only
2. A B and Conly
3.B. Cand D only
4, C,D and E only

1)1

(2) 2

(3) 3

(4) 4

OA-UENU F IRAg a e € |

A fofdy safeufa 9
B. fagid

C. Ui

D. ATH3T (Tg=rarT)
E. S7dierm & Bigg

e feu U f[adedl 5 U I IR &1 904 B

1. $adA B, C ARE
2. HIAA. B3R C
3. HIAB, C AR D
4.FHFAC, D IRE

1 1

) 2

(3) 3

(4) 4




1[Option ID=35641] Question Description : general_paper_genarel paper_set 21_english_q36
2[Option ID=35642]
3[Option ID=35643]
4[Option ID=35644]

Sl. No.37
QBID:21201037

Which of the following are biofuels?

A. Gasoline
B. Methanol
C. Methane
D. Ethanol

Choose the correct answer from the options given below:

. A, Band C only
.B. Cand D only
.B and D only
.Aand D only
1) 1

(2) 2

(3) 3

(4) 4

Frafaiad o1 3 Sa-5u § 2

AT
B. HyAId
C. Higq

D. TyATa
=i fu 7Tt f[doped § & Tl 3R &1 99 Bifee:
1.FadA. B AR C

L

1[Option ID=35645] Question Description : general_paper_genarel paper_set 21_english_q37
2[Option ID=35646]
3[Option ID=35647]
4[Option ID=35648]

Sl. No.38
QBID:21201038

Given below are two statements:

Statement-I: International Solar Alliance's present post of President is held by India.
Statement-1I: The United States of America is not a member of International Solar Alliance.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement I are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement 1T is false.
4. Statement [ is false but Statement I is true,

(1) 1

(2) 2

3) 3

4) 4
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FYF 1 : JIH T MRS SIRPEY AR T34 1 IS T T8I 6 |
SRIGd HYA P ATAiD |, 41 7GU 70 fdwedl # el 3R &1 98- S

PYF 1 AR I EH T

HYT I AR I EH! A6l

YT 1 G 8, Ap HYT 11 3 €
DY 3T 8, A PUT I HA B
(1) 1

(2) 2

(3) 3

(4) 4

I T

1[Option ID=35649] Question Description : general_paper_genarel paper_set 21_english_q38
2[Option ID=35650]
3[Option ID=35651]
4[Option ID=35652]

Sl. No.39
QBID:21201039

Given below are two statements:

Statement-I: United Nations Framework Convention on Climate Change (UNFCC) was framed during Kyoto
Protocol, 1997,

Statement-II: Kyoto Protocol set up different limits of earbon emissions for individual nations, depending on
their output before 1990.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
. Statement [ is true but Statement I is false
. Statement [ is false but Statement II is true
(1) 1
(2) 2
3) 3
4) 4

4 & Py Ry &

FYF 1 : TGRRIY SI1arg URad-1 gidl g (g T U Ui ) &1 776 iel Uicib i 1097 & 99
EEURIE

Y 1 : TN WieidIc - 311 & a8 1990 P Jd 3 gRI 71d [bU O & YR TR DIE- Ido Bl
T e g &1 of |
SRIFd FYA P Adid H, 19 ST MU [dH el § el 3R BT 999 DI

1. PYTI AR I AT FA El
2. HYF T AR IS ST B |

4=

3. BYT 1 I 2. Al HUT 11 3TA gl
4. FUTT A B, T U 11 9 B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35653] Question Description : general_paper_genarel paper_set 21_english_q39
2[Option ID=35654]

3[Option ID=35655]
4[Option ID=35656]

Sl. No.40
QBID:21201040




Match List I with List IT

LISTI LISTII
(Pollutant) (Source)
A |Lead I. |Coal combustion
B. Mercury II. |Bartteries
C. [Benzene II1. JPaint
D. |Cadmium IV [Petrol

Choose the correct answer from the options given below:

. A-IITL B-1, C-IV, D-II
. A-TIL B-1, C-IL D-IV
. A-IV, B-I1I, C-II, D-1
. A-IV, B-1, C-III, D-II
(1) 1
(2) 2
(3) 3
4) 4

el 1 91y i 11 Dl [ Bifeg

= L B =

Sl GGl
LFAED) (i)
EHE] I [@Eaiced
Oy I1. [defar

Ei?m L. [i=
IV. [Ucldd
fAfaRad fadedl ¥ U Ug! 3R &1 94+ HIfolu -

1. A-III, B-1, C-IV, D-II
2. A-IIL, B-1, C-IL, D-IV
3. A-TIV, B-III, C-II, D-1
4. A-IV, B-1, C-III, D-II

(1) 1

(2) 2

(3) 3

4) 4

Olo|wf=

1[Option ID=35657] Question Description : general_paper_genarel paper_set 21_english_q40
2[Option ID=35658]
3[Option ID=35659]
4[Option ID=35660]

Sl. No.41
QBID:21201041

Which of the following are the main focus areas of Unnat Bharat Abhiyan (UBA)?

A. Holistic development of rural clusters

B. Reorient the academic curricula and research programmes in Higher Education Institutions to align them
with development of local community.

C. Enable effective intervention at the field level

D. Inculeate the moral values.

Choose the correct answer from the options given below:

LA, B and C only
.B and D only

. A and C only
_A.BCandD
1) 1

2) 2

(3) 3

(4) 4

L
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A. ITH SHET &1 THY [daTd
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faorg & T1Y iTeT ST I |

C. T TR (Wits dad) IR YA Usd (Sexa-9Y) B T&H HET |

D. Afd® el &1 57§ a8 T

e fou U fadedl § U Tl IR &1 904 B

1.PadA, B AR C
2. %dd B AR D
3. FadANRC
4.A.B, C3RD

1) 1

2) 2

3) 3

(4) 4

1[Option ID=35661] Question Description : general_paper_genarel paper_set 21_english_q41
2[Option ID=35662]
3[Option ID=35663]
4[Option ID=35664]

Sl. No.42
QBID:21201042

Which of the following are the Central Universities of India?

A. Nagaland University, Nagaland

B. Acharya Nagarjuna University, Andhra Pradesh
C. Sikkim University, Sikkim

D. Manipur University, Manipur

E. Guwahati University, Assam.

Choose the most appropriate answer from the options given below:

.B.D and E only
.A, CandD only
.A.B.CandE only
.C.D and E only
1) 1

(2) 2

3) 3

(4) 4

T T AR I URd & S=g fayfarmm € -

A, ATTcs fayfaeem, Armds
B. 3T Ao fayfaemem, sfumesr

c. Yiden fayiaerey, Rigen

D. AU fayfenea, AforgR

E. TareId] fayfaemey, s

e L b2

i 3T U fased! T & Had S0 9T &1 90 SIloIg:

1.%ad B, D 3R E
2.HaAA, C HRD
3. $AdA, B, C IRE
4.9ddC, D IRE
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=35665] Question Description : general_paper_genarel paper_set 21_english_q42
2[Option ID=35666]

3[Option ID=35667]
4[Option ID=35668]

Sl. No.43
QBID:21201043




Given below are two statements:

Statement-I: University Grants Commission (UGC) became a statutory organization of the Government of
India by an act of Parliament in 1956.

Statement-II: National Council of Educational Research and Training (NCERT) is an autonomous organization
set up in 1961 by the Government of India.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement II is incorrect.
4. Statement I is incorrect but Statement IT 1s correct.
(1) 1
(2) 2
3) 3
(4) 4

e & Py Ry @

HYA 1 : fayfaerera g 3 (@ ol 3dl) 1056 § T8¢ & U UHTH gRI HRA IRBR B Uh
Tifafere s &4 1747 |

HYA M : HRA WBR GRI 1961 T WY AP LAfdid S=IYM Ua HI&0 ukyg (G115, 3R, 2) U
WOd 6 ¢ |

SWRIGd YU & el 1, 1< fay 7 fas el T 9 9ad Sugd 9Tk &1 99+ DIl

YA AR IS Tgl el
YT 1 3R 11 S Tad g
HYT 1 el B, e &Y 1T B
. BYT 1 7TAd ©, A U 11 J81 ¢

1) 1
(2) 2
(3) 3
(4) 4

=

e L

1[Option ID=35669] Question Description : general_paper_genarel paper_set 21_english_q43
2[Option ID=35670]
3[Option ID=35671]
4[Option ID=35672]

Sl. No.44
QBID:21201044

During Colonial period veterinary colleges were opened in:

A. Lahore in 1832
B. Bombay in 1882
C. Calcutta in 1843
D. Delhi in 1899,

Choose the most appropriate answer from the options given below:

1.A,B.Cand D
2. Aand B only
3. Aand D only
4. A. B and C only

(1) 1

(2) 2

3) 3

(4) 4




ATIFARIE H1d & G e Ui TeTideed | e o 2

A 1832 HOBRH
B. 1882 Hdag o
C. 183 T Hama g
D. 1890 H et &

i feu e fawedl # & 9 SUgE S @1 99 BT

1.A.B,C3RD
. Pad A IR B
. Had A R D
4.FTAA,BIARC
1) 1
) 2
(3) 3
4) 4

[V )

1[Option ID=35673] Question Description : general_paper_genarel paper_set 21_english_q44
2[Option ID=35674]
3[Option ID=35675]
4[Option ID=35676]

Sl. No.45
QBID:21201045

During ancient period in India which of the following universities developed in connection with temples and became centers
of community life in places of their location?

A. Odantapuri
B. Navadeep
C. Valabhi

D. Banaras

Choose the most appropriate answer from the options given below:

1. Aand B only
2.Band D only
3. Cand D only
4. A, B and C only
1) 1
(2) 2
(3) 3
(4) 4

T4 BT & SR YR B Fofared 0 8 o5 3 fayfaeray 1l & 9y P96y & 3 1 faeid gu @ik
T AT D R H G Sl BT b & 2

A 3fgagd
B. @49
C. gaHl
D. &RY

19 fau e faoedl & 9 9ad Iugad IR &1 90 DI
1.%ad A 3R B

1[Option ID=35677] Question Description : general_paper_genarel paper_set 21_english_q45
2[Option ID=35678]
3[Option ID=35679]
4[Option ID=35680]
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Read the passage and answer the question given below :

Aware of the high stakes involved in seizing control over the Indus for navigation, the British persuaded two
Sindh amirs, Rustam Khan, the Amir of Khanpur and Murad Ali of Hyderabad, to enter into a one-sided treaty
and as proxies to throw the Indus open to the British Military and political penetration. Under the treaty,
signed reluctantly by the Sindh amirs, the British obtained the right to take the final decision regarding
taxation duties on goods passing through the Indus to the Arabian Sea. This was a variation of a gun-boat
diplomacy with which the advancing British seized the veto in their hands to control the entire trade flow from
Central Asia to Sindh and thereby the right to manipulate the economies of the regions and the states,
including that of Ranjit Singh whose removal was not on their agenda.

The next step was to coerce Ranjit Singh to sign the treaty, opening Sutlej to commerce as well. The British
agent, Captain, Wade, told the Maharaja that the expansion of trade in his (the Maharaja's) dominions would
result only after singing the treaty. But the British agencies had disrupted the economy of the Sikh state by
imposing a heavy toll of Rs. 570 on the boats carrying large loads. This included the pashmina shawl output
from 20,000 looms that were operating in Kashmir. The shawls were exported mainly to the European market,
especially France, where they posed stiff competition to woollen manufacturers from Britain,

frafafad meiw o ufed iR uy &1 3R i |

= & forg Ry R a0 Rty 37 9 g ard feqenyi &t 99 U sHis A Riy & &1 sifRi, @R
& TR FH WH 3R SRIETE & RIS el B U Ueiia Tasiar H 3R wiel (e & = §
fafes ST iR Aoiae Hax & fag Ry &1 Gre- & fog ol faar |

e & SRI GRT Si=sTId® swalaR U 7 58 93iid & ded silsil & [y 3 oRE IR &1 3R
ToRA gTell aeg3fl IR B Y| & dael T <ifan FHufg & &1 R v g1 7 | 98 diare 99
el BT TR0 U FoRd 3 96d §U iUl = B Ui § Riy 0o g ard 990 SA9R & Fata
T & [T FNUIfieR (@leh) & SiH®R U4 g1dl & § o1 SR S9@ gR1 34 &4 $ik Isdi &1
stfoayrsii B 30 fedll & =Y -1 BT SUBR T Ui R fora | 57 Ueilaidig 1 srdfenawyr
St i forIe! FHId BRAT 316 3901 B Jaii (TaisT) 1 o |

STl B I0Told g &) Tdasl &I IR & (o7d Wie- & T IR S8R H3- & ford |18 H3A1 U7
| fife e Tole P 98 = HERTT I $el [ THeiid | HIER T3 3 918 of 399 (HERT0M) & a0
gl & H SA1UR 1 faER g1 | Ixq fsfew goilmi 3 sraniee 95 9\ o SF gl 16l 1 570 2. @1
YR R SR = Raw I8 1 erdfogawy &1 faafed & faar o | 398, HRUR § Hafed f& S1g
20,000 T I TR Ve 1 SereA +ff =i o7 | 549 YTl @) erey ¥ RV TR, [a=ivas wiv,
@ Fafd forar o1ar o1 | 55T 39 foea & St fafaton &t et i fired ot |

Given below are two statements:

Statement-I: The Pashmina shawls were quite popular in Europe.
Statemnent-1I: The British made it easy for Kashmiri manufacturers to export the Pashmina shawls to Europe.
In the light of the above statements, choose the most appropriate answer from the options given below:

Both Statement I and Statement II are correct.
Both Statement I and Statement IT are. incorrect
Statement I is correct but Statement II is incorrect.
Statement I is incorrect but Statement II is correct.

ol e Lo

(1) 1
(2) 2
(3) 3
4) 4

T & By Ry g B

HYT 1 : UHHT T ZRIY H D11 Aibig o |

Y I : ST A HRAN faFmiarsi & e g3 3 g=e= 2id &1 Haid $A1 S/ a0 |
SWRIG HUA P Hdi H, Hd fEU MU fdbeul § 3 a8 Iugad 3ok &1 90 BIflu:

DY RIS ol ol
HYAT 3R 11 §H1 710 g |
FUT 1 TE B, At HY= 11 Tad 8|
HYA 1710 3, Al SYF 11 51 5

il

e L

1) 1
(2) 2
(3) 3
(4) 4
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Sl. No.47
QBID:21201047
Read the passage and answer the question given below :

Aware of the high stakes involved in seizing control over the Indus for navigation, the British persuaded two
Sindh amirs, Rustam Khan, the Amir of Khanpur and Murad Ali of Hyderabad, to enter into a one-sided treaty
and as proxies to throw the Indus open to the British Military and political penetration. Under the treaty,
signed reluctantly by the Sindh amirs, the British obtained the right to take the final decision regarding
taxation duties on goods passing through the Indus to the Arabian Sea. This was a variation of a gun-boat
diplomacy with which the advancing British seized the veto in their hands to control the entire trade flow from
Central Asia to Sindh and thereby the right to manipulate the economies of the regions and the states,
including that of Ranjit Singh whose removal was not on their agenda.

The next step was to coerce Ranjit Singh to sign the treaty. opening Sutlej to commerce as well. The British
agent, Captain, Wade, told the Maharaja that the expansion of trade in his (the Maharaja's) dominions would
result only after singing the treaty. But the British agencies had disrupted the economy of the Sikh state by
imposing a heavy toll of Rs. 570 on the boats carrying large loads. This included the pashmina shawl output
from 20,000 looms that were operating in Kashmir, The shawls were exported mainly to the European market,
especially France, where they posed stiff competition to woollen manufacturers from Britain,

frafefad meriw &1 ufed iR vy &1 3R Sifor |

T & forg e TR 01 RITYT P37 § 8 a1 feqeni &1 S U SHisi 3 Ry & &1 SRl @3
& SR TXH WH IR FERIEIE & RIS St B T &g TSl o3 3R wRigft ol & u d
fafesr feT 3R ToHIfa® uaw & forg e &1 Giaq & forg i faan

Ry & oafRI gRI Si-=Tyd® SXIER [PU U 58 GU3Id & ded SISl o Riy ¥ 3R IFR 31 3R
ToRA aTell aeg3fl W e Y| & dae T <ifaw Hufg & &1 i9eR urd g1 7 | 98 diard A
el BT SR AT ForRd S 9 d §U Sifiel - B Ui § Ry ao s ad 9901 IR & Fata
T & forg FRufieR diel) & 8@ o gl B o o 3R 9@ g1 37 & Sik Iwal o
srfeaarinal &1 e fgdl & S =d a9 &I BRI v &= faan | 398 Yorsiianis & siderawr ot
et o foTe] THI ST 3@ S9! P g4 (Teien) H AT |

3ATAT B H UToiid (g &1 Hdae @l SIR & [0 Gie- & THd UR S8R B & o0 &g ST 4T
| fafewr Uoie $pH a8 3 HeRM™T 4 Fel [ 93] IR SHIER H- & 918 ol 3% (HERIUN) & a0
arel &7 § A1UR @ f&iR 811 | Ixq fsifew geifmi = sranive g 9\ o SH gl 1al 1 570 3. @1
YR B2 ARITT w5 e T &t srdouawy &1 faufed o= foar ur | sod, HedR & denferd fe s 3e
20,000 T I TRIHAT Vet 1 Fere +ff i o7 | 549 YTal @) oy ¥ RN SeiRl, [a<iveas Wi,
! it o ordr o1 | 56T 39 fareT & St fafaion &) eat ufaegef fiedt off |

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R

Assertion-A : The British wanted Ranjit Singh to sign the treaty.
Reazon R: The British wanted to control the trade through the Indus,
In the light of the above statements, choose the correct answer from the options given below:

. Both A and R are true and R is the correct explanation of A.

. Both A and R are true but R is not the correct explanation of A.
. Ais true but R is false.

. A is false but R is true.

1)1
(2) 2
3) 3
(4) 4

B




9 3 Y= U U §: UF HUHYUF (Assertion A) & U T [ARGd § ol THRI 3HD HRUI (Reason R) &
Fqﬁf

STUBYT A : 3w =Ted U & Toreiid i I9eild IR eXeR @3 |
WU R : 37U, [ & SR &G9R & FuEd s aed U |
IRIFd FYA P A |, d U T [dFedl 8 I Tl IR H1 90 o

LASRRIAIITR 3IRR, AT RIS © |
CAJRRI GIE, PR, AT Tel AT LT ® |
ATIE, AfPTR 3TTE |

A NG E, APTRITTR |

(1) 1
(2) 2
(3) 3
4) 4

a3 =

L
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2[Option ID=35686]
3[Option ID=35687]
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Sl. No.48
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Read the passage and answer the question given below :

Aware of the high stakes involved in seizing control over the Indus for navigation, the British persuaded two
Sindh amirs, Rustam Khan, the Amir of Khanpur and Murad Ali of Hyderabad, to enter into a one-sided treaty
and as proxies to throw the Indus open to the British Military and political penetration. Under the treaty,
signed reluctantly by the Sindh amirs, the British obtained the right to take the final decizsion regarding
taxation duties on goods passing through the Indus to the Arabian Sea. This was a variation of a gun-boat
diplomacy with which the advancing British seized the veto in their hands to control the entire trade flow from
Central Asia to Sindh and thereby the right to manipulate the economies of the regions and the states,
including that of Ranjit Singh whose removal was not on their agenda.

The next step was to coerce Ranjit Singh to sign the treaty, opening Sutlej to commerce as well. The British
agent, Captain, Wade, told the Maharaja that the expansion of trade in his (the Maharaja's) dominions would
result only after singing the treaty. But the British agencies had disrupted the economy of the Sikh state by
imposing a heavy toll of Rs. 570 on the boats carrying large loads. This included the pashmina shawl output
from 20,000 looms that were operating in Kashmir. The shawls were exported mainly to the European market,
especially France, where they posed stiff competition to woollen manufacturers from Britain.

frafafad mew o ufed 3R vy 31 3R i |

S & forg Rie R gz =ftd =7 9 819 ardl [gaenyl &1 9d gu silisl = Ry & a sk, @FgR
& IR T TH 3R Sex1aE & IRIG el BT U gefta Taeiiar 3 oik wieft (el & Ea F
fafew e 3R Torifas waw & fow Ry o @e & o i fEan

e & SERT gRI S-F31yd e TIER [T T 38 FHd & dgd sisl ! [y ¥ oRE IR 1 3R
ToRA aTell a3 R BRI Yoo & ey F 3ifon FHofg o &1 siftieR ure 81 T | 78 digdre e
el BT TUIaL o7 [ 311 dgd U Sifiall - Ten ufkran 4 iy 9@ giH ard 990l R &1 FRifd
T & AU FNUfeR @leh B SH@R S04 81Ul B & forT SR S9& gR1 34 &1 Sk Isai 31
stdcgar1a &1 3 fBdl & 3= a9 BT SiYSR i v &= o | 598 Yursitanis & sidorae ot
it off oI I A1 316 390! B | (TorsT) H o |

AT Ped IUMGld [T DI Taasl Bl AR @ (U Gie- & FaZId UR SEI&R P D 0l €1 &A1 Ul
| fafe=r Uoie FP- a8 3 HER™T 4 Sel fr 9] IR SHIER B & 914 ol 3% (HERIUN) & =0
aTd &7 H SR o7 fadR g | 11 fsifewr goifai = sraifeie &g | o S il 16l i 570 %, 1.
YR R ORI R e sy &t srdenaeyr &1 faufed o fear ur | sod, e & denferd fe s e
20,000 T J TRHAT 2Td &1 Icdrg i WfHa o | 39 ial & GER=Y 9 U™ aTaR], e Wi,
&1 i fora o1 o1 | 516t 399 fea & S fafmion &t st uiaegy! fred ot |




Who were persuaded by the British to enter into a treaty with them?

A, Rustam Khan
B. Murad Ali
C. Ranjit Singh

Choose the most appropriate answer from the options given below:

. A and B only
. B and C only
Aand C only
A, Band C
1) 1

(2) 2

(3) 3

(4) 4

R

3FISH GRT foig 3% 1Y YT B & fo1g il foar 7T 2

A FFH GH
B. RS 3fcil
C. Xursid g

1 fou e fawedl # & 9ad SUgad S &1 99 BT

1.Hdd A IR B
2. FHaAB AR C
3. @A AR C
4. A B3RC

11

) 2

3) 3

4) 4

1[Option ID=35689]

2[Option ID=35690]

3[Option ID=35691]
4[Option ID=35692]

Question Description : general_paper_genarel paper_set 21_english_q48
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Read the passage and answer the question given below :

Aware of the high stakes involved in seizing control over the Indus for navigation, the British persuaded two
Sindh amirs, Rustam Khan, the Amir of Khanpur and Murad Ali of Hyderabad, to enter into a one-sided treaty
and as proxies to throw the Indus open to the British Military and political penetration. Under the treaty,
signed reluctantly by the Sindh amirs, the British obtained the right to take the final decision regarding
taxation duties on goods passing through the Indus to the Arabian Sea. This was a variation of a gun-boat
diplomacy with which the advancing British seized the veto in their hands to control the entire trade flow from
Central Asia to Sindh and thereby the right to manipulate the economies of the regions and the states,
including that of Ranjit Singh whose removal was not on their agenda.

The next step was to coerce Ranjit Singh to sign the treaty, opening Sutlej to commerce as well. The British
agent, Captain, Wade, told the Maharaja that the expansion of trade in his (the Maharaja's) dominions would
result only after singing the treaty. But the British agencies had disrupted the economy of the Sikh state by
imposing a heavy toll of Rs. 570 on the boats carrying large loads. This included the pashmina shawl output
from 20,000 looms that were operating in Kashmir. The shawls were exported mainly to the European market,
especially France, where they posed stiff competition to woollen manufacturers from Britain,

frafafad meiw o ufed iR uy &1 3R i |

= & forg Ry R a0 Rty 37 9 g ard feqenyi &t 99 U sHis A Riy & &1 sifRi, @R
& TR FH WH 3R SRIETE & RIS el B U Ueiia Tasiar H 3R wiel (e & = §
fafes ST iR Aoiae Hax & fag Ry &1 Gre- & fog ol faar |

e & SRI GRT Si=sTId® swalaR U 7 58 93iid & ded silsil & [y 3 oRE IR &1 3R
ToRA gTell aeg3fl IR B Y| & dael T <ifan FHufg & &1 R v g1 7 | 98 diare 99
el BT TR0 U FoRd 3 96d §U iUl = B Ui § Riy 0o g ard 990 SA9R & Fata
T & [T FNUIfieR (@leh) & SiH®R U4 g1dl & § o1 SR S9@ gR1 34 &4 $ik Isdi &1
stfoayrsii B 30 fedll & =Y -1 BT SUBR T Ui R fora | 57 Ueilaidig 1 srdfenawyr
St i forIe! FHId BRAT 316 3901 B Jaii (TaisT) 1 o |

STl B I0Told g &) Tdasl &I IR & (o7d Wie- & T IR S8R H3- & ford |18 H3A1 U7
| fife e Tole P 98 = HERTT I $el [ THeiid | HIER T3 3 918 of 399 (HERT0M) & a0
gl & H SA1UR 1 faER g1 | Ixq fsfew goilmi 3 sraniee 95 9\ o SF gl 16l 1 570 2. @1
YR R SR = Raw I8 1 erdfogawy &1 faafed & faar o | 398, HRUR § Hafed f& S1g
20,000 T I TR Ve 1 SereA +ff =i o7 | 549 YTl @) erey ¥ RV TR, [a=ivas wiv,
@ Fafd forar o1ar o1 | 55T 39 foea & St fafaton &t et i fired ot |

Given below are two statements:

Statement-I: The Sindh amirs were quite pleased and willing to sign the treaty with the British.
Statement-1I: Controlling the navigation through the Indus was high on the British agenda.
In the light of the above statements, choose the most appropriate answer from the options given below:

Both Statement I and Statement II are correct.
Both Statement I and Statement II are incorrect.
Statement I is correct but Statement II is incorrect.
Statement I is incorrect but Statement II is correct.

ol e e

(1) 1
(2) 2
(3) 3
4) 4

Gl K AICAC R
YA : Ry & iR, iU & 9 GO R GHIER DR o (00 PIB! 96 IR 559 4 |

YA 1 : Rt & SN A1 R Fga0 &1 f§iew uoiet 3 e I ad1 o |
SWRIG HUA P Hdi H, Hd fEU MU fdbeul § 3 a8 Iugad 3ok &1 90 BIflu:

DY RIS ol ol
HYAT 3R 11 §H1 710 g |
FUT 1 TE B, At HY= 11 Tad 8|
HYA 1710 3, Al SYF 11 51 5

il

e L

1) 1
(2) 2
(3) 3
(4) 4
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Read the passage and answer the question given below :

Aware of the high stakes involved in seizing control over the Indus for navigation, the British persuaded two
Sindh amirs, Rustam Khan, the Amir of Khanpur and Murad Ali of Hyderabad, to enter into a one-sided treaty
and as proxies to throw the Indus open to the British Military and political penetration. Under the treaty,
signed reluctantly by the Sindh amirs, the British obtained the right to take the final decizsion regarding
taxation duties on goods passing through the Indus to the Arabian Sea. This was a variation of a gun-boat
diplomacy with which the advancing British seized the veto in their hands to control the entire trade flow from
Central Asia to Sindh and thereby the right to manipulate the economies of the regions and the states,
including that of Ranjit Singh whose removal was not on their agenda.

The next step was to coerce Ranjit Singh to sign the treaty. opening Sutlej to commerce as well. The British
agent, Captain, Wade, told the Maharaja that the expansion of trade in his (the Maharaja's) dominions would
result only after singing the treaty. But the British agencies had disrupted the economy of the Sikh state by
imposing a heavy toll of Rs. 570 on the boats carrying large loads. This included the pashmina shawl output
from 20,000 looms that were operating in Kashmir, The shawls were exported mainly to the European market,
especially France, where they posed stiff competition to woollen manufacturers from Britain,

frafefad meriw &1 ufed iR vy &1 3R Sifor |

T & forg e TR 01 RITGT P37 9 8 a1 feqeni &1 S U SEisi 3 Ry & &1 SRl @3
¥ SR TxH WH IR FERIEIE & RIS St B TP T&fg TSl o3 3R wRigft oredh) & u d
fafesr feT 3R ToHIfa® uaw & forg e &1 Giaq & forg i faan

Ry & oafRI gRI Si-=Tyd® SXIER [PU U 58 GU3Id & ded SISl o Riy ¥ 3R IFR 31 3R
ToRA aTell aeg3fl W e Y| & dae T <ifaw Hufg & &1 i9eR urd g1 7 | 98 diard A
el BT SR AT ForRd S 9 d §U Sifiel - B Ui § Ry ao s ad 9901 IR & Fata
T & forg FRufieR diel) & 8@ o gl B o o 3R 9@ g1 37 & Sik Iwal o
srfeaarinal &1 e fgdl & S =d a9 &I BRI v &= faan | 398 Yorsiianis & siderawr ot
et o foTe] THI ST 3@ S9! P g4 (Teien) H AT |

3ATAT B H UToiid (U8 &1 Hdae @l sIR & [0 Gie- & THd UR S8R B & o0 &g ST 4T
| fafewr Uoie $pH a8 3 HeRM™T 4 Fel [ 93] IR SHIER H- & 918 ol 3% (HERIUN) & a0
arel &7 § A1UR @ f&iR 811 | Ixq fsifew geifmi = sranive g 9\ o SH gl 1al 1 570 3. @1
YR B2 ARITT w5 e T &t srdouawy &1 faufed o= foar ur | sod, HedR & denferd fe s 3e
20,000 T I TRIHAT Vet 1 Fere +ff i o7 | 549 YTal @) oy ¥ RN SeiRl, [a<iveas Wi,
! it o ordr o1 | 56T 39 fareT & St fafaion &) eat ufaegef fiedt off |

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R

Assertion-A : The British wanted to control the navigation routes through the rivers.

Reazon R: Rivers were used for trading goods and the British found it lucrative to make profit by controlling
the trade.

In the light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A.
2. Both A and R are true but R is not the correct explanation of A.
3. Ais true but R is false.
4. A is false but R is true.
1) 1
(2) 2
3) 3
(4) 4




9 3 Y= U U §: UF HUHYUF (Assertion A) & U T [ARGd § ol THRI 3HD HRUI (Reason R) &
0

TUPYT A ; 3R ATl & A1y I @ 99 R Foau s aed U |

BRI R : AGH] B SHIATS, TS BT HTIR B2 o (078 [a1 ST 4T SR SR W Ha=01 R41fid $
TATHT ST 36 BT ATHUE T |

IRITd FYF F a1, A fGu U fasei 4 T 95t IR S 99 Hiforg

 AJRRE FIE IR R, AP Tel AT B

A SRR G TS €, Afp R, A T S AR T &1
AT PR 3T B
A3EI g APTR I B

(1) 1

2) 2

3) 3

) 4

b =

e L

1[Option ID=35697] Question Description : general_paper_genarel paper_set 21_english_q50
2[Option ID=35698]
3[Option ID=35699]
4[Option ID=35700]

Paper II : 38-Marathi

Sl. No.1
QBID:138001

U YR ffOardr a1 e @ HIol 2

1. IR YR
2. UfSd TRI=ISR i
3. 91 9. fARm=h

4. d. 41, AIHUER

(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=35101] Question Description : marathi_marathi_set 1_marathi_q1
2[Option ID=35102]
3[Option ID=35103]
4[Option ID=35104]

Sl. No.2
QBID:138002

HERIYIIA FRIST=AT diclld UfcHidT 8T Udhed Bhid G 318 2

1. S dlcisl, gul
2. Hag faedis, 4eg
3. 919,90 faemdis, gor
4. IR HIYT SR, TR
1) 1
) 2
3) 3
(4) 4
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WHET NG Udel SUINT gid ATgl. § dwd @iciicldd] HIUAl 3GIguH g &l Ud 2
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QBID:138050

~ U U Ra&d] qameiidicd et Hifgd ga- St 3i1g. Uit W=urd o U1 Yoy 9 Higdi- f[aye THmd ded
318, 32 WU TRa HRUGId D Sl YHShg DIUIdg] HidhT T4l A1 YHf-RUS WU oa
DR YT W Tl e GRBpidd g WD RIH ARTdId. 1 Jdrdl Hidr S fudi 2

A. YHHARUE WU G B0 Halu

B. Rl &t Tifigd 3if&icid gl

C. Y1ities TR=UT TG -110g YHTofd

D. 3dH @8] Sfce Gikpidd HTgHIdl WIhR AagD

E. YT TRAATDHIRAT 3eqsed YHSh g YidhT THdl.

el s uai fHasT :

1.$de A, E U D
2.HaD A, C MU B
3. ®Hd® C, A MU D
4. ®ae B, D M E

1) 1

(2) 2

3) 3

4) 4

1[Option ID=35297] Question Description : marathi_marathi_set 1_marathi_q50
2[Option ID=35298]
3[Option ID=35299]
4[Option ID=35300]

Sl. No.51
QBID:138051




HEATRI SIeArl Ualgld Hewdld 33N BRI dlcRdsldid did ®dl iU 2

A. AL 91 ASHER

B. UaHe o

C. 3Ud Sl 8gldh
D. TdIR HIBUIR
E. Ja4l e

eI dd uaiy Has -

1. a3 A, C M B
2.%da C, B AU D
3. $Hd® D, A AU E
4.%des ¢, D 3T E

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=35301] Question Description : marathi_marathi_set 1_marathi_q51
2[Option ID=35302]

3[Option ID=35303]
4[Option ID=35304]

Sl. No.52
QBID:138052

R AHIART ST Hgwdrd] HY a1 &l ATHTRATUS ] B Ui gifefdd =1 udi-l fafged 3gd 2

FNE IERIRt

B. GiT1d Ul

C. DUMRAT Ul
D. 3 FAG X1
E. e

eIt fdd Ty fHast -

1.$da A, B 3D
2.%de B, C AHIMUE
3.9 C, D AMUE
4.%d® A, C 3D

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=35305] Question Description : marathi_marathi_set 1_marathi_q52
2[Option ID=35306]
3[Option ID=35307]
4[Option ID=35308]

Sl. No.53
QBID:138053




AR a1 B YEEd DIl [qY™ g1 sigd?

A. ¢ gl fafgad uigd 3mdsyH 36,

B. I oRa- Rawdl 4Hi=a1 TaRT8! 31 3iie.

C. UTHTIOIGUOT 3107 fSTdd YIS 81 37 AU arerees 3imgd.
D. TT THS YT ST Td HINTd YIS el 3gd.

E. T1 3THS UATIET 3TH AT Y A6 1d 8l d UH IR ATel.

eI dd uaiy Has -

1. Had A 3T C
2. Had A AU D
3. ®de D 3T E
4. dhde ¢ AMTD

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=35309] Question Description : marathi_marathi_set 1_marathi_q53
2[Option ID=35310]
3[Option ID=35311]
4[Option ID=35312]

Sl. No.54
QBID:138054

[Gcied Yaiid HIvrd Aled FRIBIdd = aidRd Ared Tgl?

A. <l perpoft

B. JOTATO]
C. A<HHIC
D. i Hal
E. 9P TR

iUl 3ga gay 93T -

1. BHdcs B U E
2. %Hdes A U D
3. hdcd A SUTE
4. ddes ¢ 3D

(1) 1
(2) 2
3) 3
4) 4

1[Option ID=35313] Question Description : marathi_marathi_set 1_marathi_q54
2[Option ID=35314]
3[Option ID=35315]
4[Option ID=35316]

Sl. No.55
QBID:138055




Ul HIvd S HeHHEaUdIg gk

A. Bl

B. URATS
C. IR

D. BIBIGHET
E. GSdd

eI dd uaiy Has -

1. &ae B 3 C
2. hda A MU B
3. Hd® A SMMUTE
4. ®de ¢ A D
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=35317] Question Description : marathi_marathi_set 1_marathi_q55
2[Option ID=35318]

3[Option ID=35319]
4[Option ID=35320]

Sl. No.56
QBID:138056

TEiciU! HIvTAl Sisl iR SIgd?

A. 1T - BfFOfiEROT

B. Hgcdl - ¢da

C. XgAIYUET - gyridifte
D. Jaddlg — dIcid 3

E. AU — qHA TaddaR

iUl 3ga gay 93T -

1. Bdes B 30T C
2. $hdcs A U B
3. hdcd A SUTE
4. ddes B 3T D

(1) 1
(2) 2
3) 3
4) 4

1[Option ID=35321] Question Description : marathi_marathi_set 1_marathi_q56
2[Option ID=35322]
3[Option ID=35323]
4[Option ID=35324]

Sl. No.57
QBID:138057




Gl Il @Rl Jcdidl AIgld?

A. = UIgdl |l | G@ 31e af rerof |
B. q AT3H Al | 1 9l G Sl

C. U3 U3 fAaTaTS | A dedld 2T |

D. SIg T2 e | HRelt AT drae! |
E. YR UR IR | {aa81€1 9 931 9R)|

eI dd uaiy Has -

|. ®aa B AU C
2. "$Hd A AU B
3. Hae A AMTE
4. dde B 3T D

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=35325] Question Description : marathi_marathi_set 1_marathi_q57
2[Option ID=35326]
3[Option ID=35327]
4[Option ID=35328]

Sl. No.58
QBID:138058

fG e Tadidied BIvd BIeaRIBR Hdl IgUH! TR igd?

A. HIdHg HHT1S
B. 4I. A1 Usy
C. THIY UBR
D. d1. 4. Hedx
E. 3. 4L WIS

iUl 3ga gay 93T -

1. Bdes B 30T C
2. $hdcs A U B
3. %hded A UID
4. ddes B 3T D

1)1

(2) 2

3) 3

(4) 4

1[Option ID=35329] Question Description : marathi_marathi_set 1_marathi_q58
2[Option ID=35330]

3[Option ID=35331]
4[Option ID=35332]

Sl. No.59
QBID:138059




Tedq R TRIST fa1e] HIfgrd HR 9Teqon=al Jifgddd HIorn?

A. 3G d Hi STl
B. ATE! ABR a3l

C. a8

D. STaReT &M

E. ST =T G

eI dd uaiy Has -

1. &ae B 3 C
2. Hda A MU B
3. d® A MMUID
4. ®de B AU D
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=35333] Question Description : marathi_marathi_set 1_marathi_q59
2[Option ID=35334]

3[Option ID=35335]
4[Option ID=35336]

Sl. No.60
QBID:138060

HIHA! HIN=T A&0TId aTeiicadUd] dIulc d&fol Agid?

A. fgaig 9=
B. Gp{dd Yhu]
C. STaiRIb

D. fafyar

E. FRufaeiierar

iUl 3ga gay 93T -

1. Bdes B 30T C
2. $hdcs A U B
3. %hdes ¢ AUTE
4. ddes B 3T D

(1) 1
(2) 2
3) 3
4) 4

1[Option ID=35337] Question Description : marathi_marathi_set 1_marathi_q60
2[Option ID=35338]
3[Option ID=35339]
4[Option ID=35340]

Sl. No.61
QBID:138061




IS HAMGE HIHNT S, GiigdfdA=iBi Algced IUTi=al g ST i

AL 4t ST - GeHYdIyd® dieRg
B. dl. H. SIRM - Aiddeq FHe

c. 1. Ul Bad — WEd deed

1. Hdes A 10T C
2. Hdd A SMMUTE
3. 9d® C MUTE
4. &de B AU D
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=35341] Question Description : marathi_marathi_set 1_marathi_q61
2[Option ID=35342]

3[Option ID=35343]
4[Option ID=35344]

Sl. No.62
QBID:138062

feeied Sdl 01 Bidar afdid gebid gaid Has

A. TShaTdel Ushos o - 4, 1. 301

B. DT Dledl Jhel BRGTS TYHI — I5Hl TESHT
C. I A1 a1 DI, Ar=cll Qi Ul A — YbT gl dh
D. A=A $gH1 fhar gut=an el - A

E. Ieid] UNHY ST 1dTd 3Tl 181 - F=dd T-1eY

iUl 3ga gay 93T -

1. hda A AU C
2. %des B AU D
3. %de D AT E
4. ddes ¢ 3D

(1) 1
(2) 2
3) 3
4) 4

1[Option ID=35345] Question Description : marathi_marathi_set 1_marathi_q62
2[Option ID=35346]
3[Option ID=35347]
4[Option ID=35348]

Sl. No.63
QBID:138063




fecied] Taid RN YH1e! 7 AR didbh bR S

A. ftTrest
B. 9I&YdIY
C. TR

D. TieRI=
E. 1ged

eI dd uaiy Has -

1. Hdes A 10T C
2. %de B HMUID
3.%de® D AU E
4. ®de ¢ A D
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=35349] Question Description : marathi_marathi_set 1_marathi_q63
2[Option ID=35350]

3[Option ID=35351]
4[Option ID=35352]

Sl. No.64
QBID:138064

feoied] YaiaiU®! S0l cRadbTH AFHUE HA Sl Aloid?

A. TR TS5

B. DR HISTBH
C. . . fIREER

D. Tl Sl

E. . 19, s=fl

iUl 3ga gay 93T -

1. hda A AU C
2. %des B AU D
3. %de D AT E
4. ddes ¢ 3D

(1) 1
(2) 2
3) 3
4) 4

1[Option ID=35353] Question Description : marathi_marathi_set 1_marathi_q64
2[Option ID=35354]
3[Option ID=35355]
4[Option ID=35356]

Sl. No.65
QBID:138065




facied] TS SV Tad Ng IR [9RNT e SITd ATgid?

AT F. SRUie
B. 1. 4. ST

C. 1. 7. BIAAd
D. 9. 3. St
E. 71 91, STeaR

eI dd uaiy Has -

1. Had A 3T C
2. ®Hae B AU D
3. ®Hae ¢ AMTE
4. de ¢ AUTD

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35357] Question Description : marathi_marathi_set 1_marathi_q65
2[Option ID=35358]

3[Option ID=35359]
4[Option ID=35360]

Sl. No.66
QBID:138066

TSI 3101 Al SR a1 Siis1 Sesd]
WY1 WY I

TUaTe e
A AR I [HIOREET HIST g

B. HOi=dl 1L A

TS TR 0T
IV, [MTSds &fFFdr gidr
el

eI sfdd gy fHasT :

c. [glde L. [E@egHmarerdt
et

l. A-T. B-IL, C-IIL D-IV
2. A-II, B-IV, C-1, D-III
3. A1V, B-IIT, C-II, D-1
4. A-IIT, B-1V., C-1. D-II

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=35361] Question Description : marathi_marathi_set 1_marathi_q66
2[Option ID=35362]
3[Option ID=35363]
4[Option ID=35364]

Sl. No.67
QBID:138067




Y YT AT i< GEu gi=ar SIS Sfesd]

WY1 WY I
A [Eevuigadg | L q‘%;e; e
B. WBE B e I [miaEE
[ Wzlaaa wices 1L [d=FyrT
D. g%:g” e IV. mgeraroft

Uieia! s gaiy fHas ;

1. A-II, B-III, C-1, D-IV
2. A-TIL, B-IV, C-1, D-IT
3. A1V, B-1, C-II, D-III
4. A-IL, B-1, C-1IV, D-III

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=35365] Question Description : marathi_marathi_set 1_marathi_q67
2[Option ID=35366]
3[Option ID=35367]
4[Option ID=35368]

Sl. No.68
QBID:138068

wWHI WY
el HT TS G2
A [T RGN I (3o THE RS
ML
i TR 0 et
C. HgE il CEARERIRG
D. il IV [FHREORH

UeIaum! e g Hast :

1. A-II, B-I, C-1II, D-IV
2. A-IIL, B-1, C-IV, D-II
3. A-IV, B-1I, C-1. D-III
4. A-IIT, B-II, C-IV, D-I
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=35369] Question Description : marathi_marathi_set 1_marathi_q68
2[Option ID=35370]

3[Option ID=35371]
4[Option ID=35372]

Sl. No.69
QBID:138069




AhbAIDR A0 {7 IT0R GIVIRT dTe] Fier Sl Sesdl.

HWHI WY II
A [GleT] I [(FRO
B. [de= IL [atig
c. [eHai 0L |8
D. e® V. [
eiciUapl 3ige gay Hasr :

L. A-IT, B-I, C-III, D-IV

2. A-IV, B-II1, C-1, D-IT

3.A-IIL B-IV. C-1, D-II

4. A-IIL, B-1, C-11, D-IV

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=35373] Question Description : marathi_marathi_set 1_marathi_q69
2[Option ID=35374]

3[Option ID=35375]
4[Option ID=35376]

Sl. No.70
QBID:138070

T HId Yuerdid fafay ofiest sfor Yeifera aifgd ! ai=an i Sis e,

WY1 WY
RGeS I [rideuyEne
YAl Addrd | I [EPT=iuig
EIEEERINNEIE]] I e

B
0 91A® wiiaqul | IV, [’k Uhid

YU srgd gy Hast -

=) S el

1. A-II, B-I, C-IV, D-III

2. A-IV, B-III. C-II, D-I

3. A-III, B-1IV, C-1, D-II

4. A-TI, B-1V, C-1, D-TII

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35377] Question Description : marathi_marathi_set 1_marathi_q70
2[Option ID=35378]

3[Option ID=35379]
4[Option ID=35380]

Sl. No.71
QBID:138071

fafqy QTSI Jesdatd = srum=an Arfgddd! St did TRdd TF=AT SISl oo,

WY1 WY I
A e 9@aw I [&rEe
(O e IR
B. Pfcardi9@des | IL e T
C. [PHIR d5dad L [érd
D. [gicd d@d® IV, [FREE
el g gy HasT -

L. A-II, B-I, C-III, D-IV

2. A-III, B-II, C-IV, D-I

3. A-IIL B-1L, C-1I, D-IV

4, A-IV, B-1, C-II, D-III
(1) 1




(2) 2

3) 3

(4) 4

1[Option ID=35381] Question Description : marathi_marathi_set 1_marathi_q71
2[Option ID=35382]

3[Option ID=35383]
4[Option ID=35384]

Sl. No.72
QBID:138072

WY1 WY II
MRlagi Ofe | 1 [GoRiday
EICIFHEIE I [@%
Haqred I [f&mn
MEFg e | IV, [Afdaa®

eiciUapl 3ige gay Hasr :

g|o|w|=

L. A-I, B-III, C-IV, D-II

2. A-IL B-L, C-IV, D-IIT

3. A-IV, B-1I, C-1I1, D-I

4. A-TIL, B-IV. C-1, D-II

1)1

(2) 2

(3) 3

(4) 4

1[Option ID=35385] Question Description : marathi_marathi_set 1_marathi_q72
2[Option ID=35386]

3[Option ID=35387]
4[Option ID=35388]

fafae Tifg warg S1for & Siavid Aed Som=n Hiigddd| A1 g1 Sisdl Sesal.

Sl. No.73
QBID:138073

Tl Uy S0 UYDR giear arg Siisd] Sedl,

TWHI WWHII
A RTERRR I RiHegRHEg®!
B. [HZAU® 1L [TogHAET
C. |[FEe 1. [gggeuu
D. [HFayE IV. |[PTeqyeTal

eiciuapl 3 ay HdsT -

L. A-IT, B-I, C-IV, D-III
2. A-IIL B-1, C-IV, D-II
3. A-L, B-III, C-I1I, D-IV
4. A-11. B-1V, C-II1, D-1
1)1
(2) 2
3) 3
(4) 4
1[Option ID=35389] Question Description : marathi_marathi_set 1_marathi_q73
2[Option ID=35390]

3[Option ID=35391]
4[Option ID=35392]

Sl. No.74
QBID:138074




JISHAYDR A0 ITSHAR ! T T SIS Seadl,

HWHI Y II
A [@u I [HFRA
B. [®iddl I |3l
C [@read ol ffdad
D. [afaaey V. e

eiciUapl 3ige gay Hasr :

- III, B-IV, C-I, D-II
-IV, B-III. C-II, D-I
-I1L B-1. C-1V, D-III
-1 B-1V, C-1I, D-1II

A
A
LA
A

1[Option ID=35393] Question Description : marathi_marathi_set 1_marathi_q74
2[Option ID=35394]
3[Option ID=35395]
4[Option ID=35396]

Sl. No.75
QBID:138075

SiTeTad ST SATOT i fawa g Sirsa Sead,

WY1 YT

BIRREEICIEE

A, [igh yadiEn I |Yaddeedl
HHgo] |

B. fqﬁwﬁmawi@ﬂ?l I [RgaEmeaR
REEE] 4

C. [dgpedael | ¥ L [Hesdl
FITTes e Heal |
ST EEI A 4G || .,

D 51 20 a1 &d IV [SUCRR

L. A-II, B-L, C-IIL, D-IV
2.A- IV, B-III, C-1, D-II
3. A-1 B-IV, C-II1. D-II
4. A-1II, B-IV, C-1, D-I

1[Option ID=35397] Question Description : marathi_marathi_set 1_marathi_q75
2[Option ID=35398]
3[Option ID=35399]
4[Option ID=35400]

Sl. No.76
QBID:138076




U fecied Yagi=ar IaIgRuIdH dedl Hivui faufadsd fHidd o,

NG|
B. 1. =1, <, =41, i1
C. &, B
D. 4.3, M
E. AU
qéic Ul 3 qafg Hasr -
1.A,D,C,E,B
2.B,C.E.D.A
3:CADLE B
4.E,C,B, DA
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=35401] Question Description : marathi_marathi_set 1_marathi_q76
2[Option ID=35402]
3[Option ID=35403]
4[Option ID=35404]

Sl. No.77
QBID:138077

T fadiean SareRuliqd o I RIS Wifed SHa-=aT Jfeaeidr oH Fad &,

A. gaHg 3R
B. 94 d 3{dSI Sg1d
C. AN I
D. 3BT &3

E. HETHHR Bld
eI 3fdd gaiy Hast :

(e )

MO
owoyg

B b
= P

oMY m
>0 w

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35405] Question Description : marathi_marathi_set 1_marathi_q77
2[Option ID=35406]

3[Option ID=35407]
4[Option ID=35408]

Sl. No.78
QBID:138078

dldf-eh rfganary AT f[aer=mdd TRTEH ST S{THb i PIcllhH &4l

A. 91 U, Ud. WHI$H
B. Uld a4 feeH

C. UY. UY. UIaR
D. |TY (1)

E. 94d dl4c

géid Ul 3 gl Hasr -

1.A,C,D,E, B
2B CEDA
3. CAE BD
4.D,B, A, C,E

1)1




(2) 2

3) 3

(4) 4

1[Option ID=35409] Question Description : marathi_marathi_set 1_marathi_q78
2[Option ID=35410]

3[Option ID=35411]
4[Option ID=35412]

Sl. No.79
QBID:138079

RISTdTd daRe e dRi= g didr RFdSITyaR b A GRad.

qéic Ul 3 qafg Hasr -

LB C.&D.E
2.C.D,E. A B
3.BLA,C,E,D
4.D.E.AB.C

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=35413] Question Description : marathi_marathi_set 1_marathi_q79
2[Option ID=35414]
3[Option ID=35415]
4[Option ID=35416]

Sl. No.80
QBID:138080

Aa9TTg AT Fargld fHafor ATeied Wiigdddidl $H Aiedl UHIH auiyAT] o,

NESIIGE]

B. BIgl Hfddl

C. PIYal

D. 4l HeodIe

E. §.3(7%g IURH

qéid Ul 3 qafg Haer :

LB IO E €A
2.B,D,A,C,E
3.A,C,B,E.D
4.D.E,A B,C

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35417] Question Description : marathi_marathi_set 1_marathi_q80
2[Option ID=35418]
3[Option ID=35419]
4[Option ID=35420]

Sl. No.81
QBID:138081




U feeiedn JaTeruliqd UabIiRid Uil SHIca=aial Bler-shd Fidd 6.

A. TRG
B. O3l rdta

C. Ui
D. W3
E. Tidaes]

eI dd uaiy Has -

l.AD,C.E.B
2.B.D. A E.C
3.C,B,AE.D
4.E,C,B,D,A

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=35421] Question Description : marathi_marathi_set 1_marathi_q81
2[Option ID=35422]
3[Option ID=35423]
4[Option ID=35424]

Sl. No.82
QBID:138082

I.A,D,C.E.B
2.B.D,A.E.C
3.C.A;B.ED
4.E,C,B,D, A

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35425] Question Description : marathi_marathi_set 1_marathi_q82
2[Option ID=35426]
3[Option ID=35427]
4[Option ID=35428]

Sl. No.83
QBID:138083

U¢ fadcn Ieeviqy RIS arsHaifdshRidl dIashH HiEd &1,

A, 3l
B. &0
C. =3
D. AT
E. UlErS]

iUl 3ga gay 93T -

1.D,B,C.E A
2.B,D,AE.C
3.C,A BE.D
4.E.C.B.D. A

1)1




(2) 2

3) 3

(4) 4

1[Option ID=35429] Question Description : marathi_marathi_set 1_marathi_q83
2[Option ID=35430]

3[Option ID=35431]
4[Option ID=35432]

Sl. No.84
QBID:138084

YR G IRRAD R ATHT Sl dIh IR 3JhH cd- GRadL.

géid Ul 3dd gy Hasr -

nnmo

o 0m
mooy»
b b

ol e
FERO

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35433] Question Description : marathi_marathi_set 1_marathi_q84
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